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70 +6= (-10)"? -3 =
10D 4+3 = 2°-5=
(-1)° -8 = 4D + (-6) =
(-3)+3= (-8) " +(-5) =
(—2) 2 -1 = 50D 4+ (=6) =
(-8 +2= (-5 —7=
(-2~ (D)= 7+ (-9) =
(—9)+8 = 47D + 6=
- (-8)= (DY -1=
(-6) = (-3) = (-8)" '+ (-9) =
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7 +6=7

1TV +3=4
(-1)* —8=(-7)
(-3 +3=12
DD -1= ()
(—8)> +2 =66
(2= (D=5
(-9)+8=(-1)
9> — (—8) = 89

6~ (3= 5 -

l
36

%

3o (29,9
10) (um) 2100
2°—5=(-1)

44 (6) = (2) = (-572)
B+ (-5 = (-5 = (53)
S +(-6) = (-5 = (-53)
(—5)>—7=18
T+ = (-3
47D + 6= %5 - 6%

DTV =1=(2)

_ 73 1
(8 +(-9) = ()= (99)
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